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k = F , , , we have that k+1 = F ., + F„ , and we a r e through. If n+1 n+1 2 
k = F ,, - 1, we have k+1 = F , , and we a r e through. If k = F ,-, - 2 n+1 n+1 & n+1 
we have k+1 = F , - 1, which by Lemma 1 (A or B)? can be r e p r e -
sented as c la imed and we a r e through again. Therefore let us con-
s ider k i F ., - 3. 

n+i 
Now the r ep re sen t a t i on fo r k in this form can best be exp re s sed 

a s k = F + a ~ F » + a - F „ + a . F . + . . . + a ^ F - + a 0 F -n n-2 n-2 n-3 n -3 n -4 n -4 3 3 2 2 
where a. = 0 or 1 for 2 £. i S n -2 , and a. = 1, impl ies that a. ± 1 = 0. 

i I x i 

Now there a r e only two poss ib i l i t i es for a ? and a, in this r e p r e s e n t a -
tion. Ei ther a ? = a . = 0, or a ^ a« . If the f i r s t case is t rue for k, 
we can r e p r e s e n t k+1 in the r equ i red manner , s imply by adding 1 to k 
in the form of a ? = 1. If the second case is t rue for k, we then cla im 
that there exis ts at least one place in the r ep resen ta t ion where a. =' 
a. . , = 0 , since o therwise , k = F ., - 1 which we have a l r eady taken l+l n+1 . ' 
c a r e of above. 

Therefore we can r e p r e s e n t k+1 by the following: 
k+1 = F +a ~F „ + . . . + a . , - F . ,., + a.' F . , +. . . + a 'F0 + a 0 F 0 +1 n n-2 n-2 i+2 i+2 i - l i - l 3 3 2 2 
Now consider the express ion from a. , n F . ._ on and the resul t ing in-' r i+2 1+2 to 

equali ty. 
a . i 7 F . l 7 + a , . F . , + . . . + a Q F . + a 0 F „ +1 < F . , - - 1 <. F , - 1, i+2 i+2 i - l i - l 3 3 2 2 i+3 n-1 
by our Inductive Assumpt ion , Also by the Inductive Assumption, we 
can r e p r e s e n t the expres s ion from a. ,~F . ~ on in the p rope r form 
which impl ies that we can then a l so r e p r e s e n t k+1 in the p rope r form. 
This shows that the proof holds for al l posi t ive in tege r s N. Q. E. D. 
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